
1

65.65.65.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 8080 8080 80net‘de
ÇÖZÜMLER

1.	 . .
.lim lim lim

sin
cos

sin cos
sin

sin
sin

x
x

x x
x

x
x

3
1 2

2 3 3
2 2

6
2 2

x xx 0 00 2
-

= =
" " "

	 = .
. .lim cos
cos

x
x

6 6
2 2 2

6
4

3
2

x 0
= =

"

Cevap: C

2.	 .lim lim
sin sin

cos

x
In x

x
x
x

2 2 2 2xx 22
2r r-
=

- -" "
r r^

^
^ ^h

h
h h

	 = .lim cos
sinx

x
x4 2x 2

r- -"
r ^ h

	 = . . .lim sin
sin cos

x
x x x4 2 4 2x 2

r- - - -
-

"
r ^ ^h h

	 = 4 2
1

8
1

- -
-

=-^ h

Cevap: E

3.	 .
.

lim tan lim cos
sin

x x x
x x

2
2

x x2 2

r
r

- =
-

" "
r r
^ ^h h

= 
.

lim
sin cos

sin
x x x

x
2 2

1
2 2

x 2

r

-

- + -
=
-
-
=

"
r

^ h

Cevap: A

4.	 lim
sin x
x
2

1
2 8

x 0

3

3
3

= =
"

^ ch m

Cevap: E

5.	
›

lim sin
x x

x say
0x 0

3
+

= =
" +

Cevap: D

6.	 lim lim
e
xInx

e

Inx x x

1

1

x x x x

$

-
=

+

" "3 3

	 = lim lim
e

Inx
e
x1
1

x x x x
+
=

" "3 3

	 = 
.

lim
ex
1 0x x ="3

Cevap: C

7.	 .lim cos lim sinax
x

a ax
x

1
3 6

x x0

2

0-
=

" "

	 = 
.

lim
cosa ax a
6 6

x 0 2 2=
"

Cevap: C

8.	 . .
.

.
.lim lim cos

sinx cosx
x x cosx

sin x
x x x

3
2

3 2
2

2
x x0 0

+
=

+
" "

.
.

. .
. .lim sin

cos lim cos sin
x

x x x
cos x
x x x

3
2

2
4

3 2 2
2 4 4

x x0 0
+

=
+ -

" "

	 = 6
2 4

6
6 1+

= =

Cevap: D

9.	 . .
.lim lim sin cosinx osx

x x inx osx
x xs c

s c x x
x x0 0

-
= -

" "
` j

.lim limsinx cosx
x x

x x0 0
-

" "

. .lim limsin sin cos sincosx cosx x x x x
1 0 1

x x0 0 2 2-
- =

-" "

	 = 1
Cevap: D



2

65.65.65.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 8080 8080 80net‘de
ÇÖZÜMLER

10.	 lim
x

e x1
0
0–

x

x

20

+
=

"

^ h
    "L'Hopital"

lim limx
e e
2
1

2 2
1–

x

x

x

x

0 0
= =

" "

Cevap: C

11.	 lim cos lim cos
x

x x
x
x

x
x

2 2 2x x
+

= +
" "3 3

` j

	 = lim lim cos
x
x

2
1

2x x+" "3 3

	 = 2
1 0 2

1
+ =

Cevap: D

12.	 .lim tan lim tan tan
x x

x
x

x
3 6

1
6 0 1
1 0

1x x0 2 0

2 2

-
=

-
+

=
-

+
" "

	 = 1
1 1
-
=-

Cevap: A

13.	
( )

( )
lim

cos
x

x
2 1

1 2 1
0
0

x 1 2+

- +
=

"-
     "L'Hopital"

( )
. .

lim lim
sin cos
x
x x
1 44

2 2 1 4 1
1

x x1 1+

+
=

+
=

" "- -

^ ^h h

Cevap: B

14.	 lim cx
ax x

3
4 5

4
1

x

2

+
+ -

=
"3

  

a = 0

c
4

4
1

=    ⇒   c = 16  
   a + c = 0 + 16 = 16

Cevap: C

15.	 lim x
f x f

f2
2

2
x

|
2 -

-
=

"

^ ^ ^h h h  

f(x) = 2x – In(2x)

f|(x) = 2 – x x2
2 2 1
= -

f|(2) = 2 – 2
1

2
3

=

Cevap: A

16.	 .lim limcot tanx x x x3 3
1

3
1

xx 00
$= =

" "

Cevap: E



3

65.65.65.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 8080 8080 80net‘de
ÇÖZÜMLER

17.	 	 y

x
2

a
b

4

1

y = f(x)

g(x)

f|(2) = m
g(x)

tanb = m
g(x)

a + b = 180     b = 180 – a
tanb = tan(180 – a)

	 = –tana = 2
1
-

f|(2) = 2
1
-    olur.

lim
x

f x x
1

1
0
0

x 1 2 -

+ -
=

"

^ h
     "L'Hopital"

lim x
f x f1

2
1

2
2 1

2
2
1 1| |

x 1

+ -
=

-
=
- -

"

^ ^h h

	 = 2
2
3

4
3-

=-

Cevap: E

18.	 .lim sin lim cos
x

x
x
x

4 2x x2 2 2
r r r

-
=

" "- -

	 = .cos 2
4 4

1
4

r r r r
-

-
=
-
=-

^ h

Cevap: D

19.	 .lim
tan
sin lim tan tan

sin
x

x x
x

x
x
x

3
2

3 3
2

3
1

3
2

x x0 2 0
$ $= =

" "

	 = 9
2

Cevap: B

20.	 ..lim cot
sin lim

cot
cos

x
x x

x2 1
1 2 2

2 1 2xx 44
2-

-
=

- +

-

" "
r r ^ h

	 = 
.

cot

cos2

2 1 2 4

4
2 $

r

r

- +

-

c c mm

	 = 
2

2 1 0
2
2

2
1

2
1$

- +

-
=
-
-
=^ h

Cevap: D


